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ZOOLOGY (Honours)
Date : 13-06-2017 Full Marks : 50 Time: 3-:00 p.m —4-00 pm

Instructions for the candidate

Answer any 25 questions from the following. Each question carries 2 marks; 1 mark will be deducted for a
wrong answer. Tick (v') the correct option in the given answer sheet using either Black or Blue ink. The tick
must be very clear and non-overlapping and if it is smudgy or not clear, no marks will be awarded.

Name of the student :

Application No. : Signature of the invigilator :

1. To get 100 seed of mango- plant, minimum number of meiosis needed is
a) 100 b) 200 c) 125 d) 50

2. Anwomen is 30 years old having 2 children. Her menarche was at the age of 12 years. Her total number of
egg up to 32 years will be

a) 200 b) 240 c)2 d) None of these

3. Na- K ATPase is an example of

a) Antiport b) Amphiport c) Active transport d) All of these

4. 1) All test crosses are back crosses
i) All back crosses are test crosses
iii) All test crosses are not back crosses
iv) All back crosses are not test crosses
Which of the above is correct?

a)i, iv b) iii, iv )i, ii d) all of the above

5. How many ATPs are formed in a TCA cycle?
a) 12 b) 24 c)0 d) 38

6. First true triploblastic phylum is

a) Ctenophora b) Annelida c) Platyhelminthes d) None of these

7. Suppose, the scientific name of an organism is Molinga molinga. The correct statement about that
organismis -
a) It is an animal and an example of homonymy b) It is a plant and an example of tautonymy

c¢) That organism is either an animal or a plant and an example of tautonemy
d) That was an animal and an example of tautonemy

8. The word “species” coined by

a) Mayr b) Cuvier c) John Ray d) Lamarck
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Which one is the function of Mesosome?

a) ATP production in Bacteria b) Helps in replication
c) Cell wall formation and distribution of DNA d) All of these

Which one is the function of progesterone?

a) It maintains the thickening of uterine endometrial growth b) It inhibits FSH
c) It Inhibits prolactin d) All of these
EcoRl is a restriction endonuclease. Its recognition sequence is

a) GAATTC b) AGGCCT c) ACCGGT d) None of these

Who discovered the Taq polymerase enzyme?

a) Watson b) Kary Mullis c) Barbara McClintok d) Chargaff

Which one of the following is correct in case of colchicines?

a) It induces polyploidy b) It arrests metaphase c) It helps in chemotherapy d) All of these

How many microtubules are there in a eukaryotic flagellum?
a)9 b) 11 c) 20 d) None of these

First heart sound is produced due to
a) opening of bicuspid and tricuspid valve b) closing of bicuspid and tricuspid valve

c¢) opening of semilunar valve d) closing of semilunar valve

During skeletal muscle contraction

a) Z band reduced b) H band reduced ¢) H band increased d) None of these
In imbibition

a) Heat is produced b) Colloid absorbs water without formation of any solution

c¢) Volume increased d) All of these

Sucrose is formed by
a) Alpha D glucose and Beta D fructose b) Beta D glucose and Beta D fructose
c¢) Alpha D glucose and Alpha D fructose d) Beta D glucose and Alpha D fructose

Anal style and anal cerci of cockroach are located at

a) 9" tergum and 10™ sternum b) 9™ sternum and 10™ tergum
c) 9" tergum and 9" sternum d) 10" tergum and 10" sternum

Name the phylum whose members are exclusively marine

a) Hemichordata b) Echinodermata c) Ctenophora d) All of these

Enzyme RuBIisCO is less efficient than PEP carboxylase because

a) RuBisCO is temperature sensitive b) Ki, of RuBisCO is more than PEP carboxylase

c) PEP carboxylase can fix carbon dioxide at very low concentration d) All of these
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22. Inverted ecological pyramid is observed in
a) Parasitic -food chain of biomass b) Aquatic ecosystem — food chain of numbers
c) Both Aand B d) None of these

23. Which statement is correct?
a) Apoplastic transport occurs through cytoplasm b) Apoplastic transport needs energy

c) Apoplastic transport is faster than Symplastic d) All of these

24. Photosynthesis occurs in a light of the wave length
A) 750-850 nm b) 680-700 nm ¢) Both Aand B d) 250-450nm

25. Thickness of ozone is measured in terms of
a) BOD b) D.O. c) ROP d) DU

26. BT cotton is a transgenic plant having the type of gene —

a) TOX gene b) CRY gene C) cry gene d) Cry gene

27. InJ type of population growth curve which statement is correct?
a) r is constant , density independent growth b) r constant, density dependent growth
c) K dependent , density independent d) None of these

28. How many restriction sites are present in E. coli cloning vector pBR322?
a) 6 b) 7 c)8 d)9

29. Logo of WWF is
a) Dolphin b) Tiger c¢) Red Panda d) None of these

30. log S=1log C + Z log A. True about this formula
a) S= Species richness, A= area b) Z= Regression coefficient
c) C=Y intercept d) All of these
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Instructions for the candidate

Answer any 25 questions from the following. Each question carries 2 marks; 1 mark will be deducted for a
wrong answer. Tick (v') the correct option in the given answer sheet using either Black or Blue ink. The tick
must be very clear and non-overlapping and if it is smudgy or not clear, no marks will be awarded.

1. Soofb SR e (509, FeTos TS FLAF FIIFFT LTS 2
a) Soo b) k00 C) 53¢ d) ¢o

2. GG wo I ITF WA *fT AV WM | S IO WG |G (menarche) 20eT 0% IR I 2@ OF
Ty I A<l

a) 200 b) 280 c) ? d) 9F IR T
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Na-K ATPase fAtRI& (@967 Trigge 2

a) Antiport b) Amphiport c) Active transport d) a TR

i) W (535 T2 I G

i) T A T (56 TA
iii) I (536 T2 T A T
iv) T A FAL (G T T
TS (i oS AT

a) i ¥R iv b) iii @R iv c) i 9=k ii d) a3 AR

TCA 5C&F ©eoig ATP -7 2y

a) 5] b) 18 c)o d) v
A o fqwal #1470 et
a) foraciat b) Srifefere! ¢) Zhiforzefmie d) R (IS T

431 TF, (e @6 GItad [Fe@=pre i Malinga malinga «2 GRi6a 7=t fosfeiie (i o2 gie?

a) GG @30 2f @R o homonymy-7 Twizgs b) G7fb @b Tfer «k @ tautonymy-7 Twizge
¢) GG 23 «3To 2Nl 6531 @316 Sfew @<k @ (T tautonymy-31 Swrzel
d) G @0 @il @R @S tautonymy-7 Srizae

“Species” = AW AR FCARCE

a) Mayr b) Cuvier c) John Ray d) Lamarck
SR (I ISR P2
a) IIFTRAT ATP Teoiive b) DNA #fsfeiisizsace (replication) ire! 21

C) (B ot @ak DNA ez (distribution of DNA)  d) Gtvs 7<<b3

fefeie @ et T
a) TR Sr@sfitd GrOIIGAIGE We Jiace 7eRel 54 b) FSH @5 SrisifRe g s
C) C2EH (prolactin) @7 SRS @iy 1 d) 9oE FRS02

EcoRI @ restriction endonuclease | €3 Fi<iF @ (recognition sequence) Z&t
a) GAATTC b) AGGCCT c) ACCGGT d) R (DS T

Taq polymerase (& SR I 2
a) Watson b) Kary Mullis c) Barbara McClintok d) Chargaff

ftHIe @« 921 colchicines @ CF(a ITAST 2
a) «afb polyploidy (& =telfre w7 b) GIGITFEF I% P

¢) FeteIf#ITe (chemotherapy) A= FC1 d) GF AIHHR
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3TwiRsF FrEEite 36 M BRT A2

a) » b) s c) 20 d) Go7R e T
2%z (heart sound) S 23

a) 59 @ fgo[@s FATH (AT A b) favla< © fgoias FoIb= T% 27T P

¢) SbmIFrs B et Pi=Ce d) Sfbmighe SR 7% 27 e

AR ARG 231G AT

a) Z band Zi>ae 23 b) H band grmehe = ¢) H band 3faelie == d) 9o @ieaoE
Serefes (imbibition) =

a) oIl Teol 27 b) FHAC SEACHIT FC TG Tl (ol 27 =1l

C) SITe I AR d) 9 0L

G (sucrose) (ot =

a) Alpha D glucose @<} Beta D fructose 4 A9 b) Beta D glucose @<t Beta D fructose €< 5=
c) Alpha D glucose €% Alpha D fructose @ s7€cx  d) Beta D glucose @<t Alpha D fructose 43 ¥3€cx

S[ICHMeTIE anal style @<k anal cerci -9 S G0

a) 919 tergum @G3R WY sternum -4 b) <= sternum @R WIS tergum -&

C) W9 tergum @R % sternum-« d) w3 tergum @R WY sternum-<

0N (@I #1075 Teter 2

a) RO b) GFIBCAGIAG! c) focaczriat d) R AL
T RUBisCo S Ifel s (2AtF PEP carboxylase @3 5130e 5 vl 79, K¢l

a) RuBisCo 7@l ACaw=#1eT (temperature sensitive)

b) RuBisCo-a K, &3 1% PEP carboxylase @3 (5t (34t

c) PEP carboxylase 33 % 9<1Cg carbon dioxide (F I 409 2t d) G TR0

Fo1Sre ArgeifEs 11N (inverted ecological pyramid) o7t 2w
a) &I Giwed AMHeica (Parasitic food chain of biomass)

b) reTer AEOCT ALANEH AmeteT (Aquatic ecosystem—food chain of numbers)

c)a<dzb d) 9= @ICaE 97

(I (D T2 ?

a) Apoplastic transport <5 cytoplasm &= b) Apoplastic transport @ *f&= TS 2
c) Apoplastic transport 2 =& symplastic transport 9= (50 wowd d) G FFoL

AR LTINS DTN O (7
a) 750 — 850 nm b) 680 — 700 nm C)FEaRd d) 250 — 450 nm

(5)



25.

26.

217.

28.

29.

30.

Ozone- 4= o7y (thickness) b <1 &7
A) BOD 71 b) D.O @it ¢) ROP i d) D.U a1

BT Cotton @G transgenic &fen | (0RE (S «A-1a gene «Co (wl AT ?

a) TOX gene b) CRY gene C) cry gene d) Cry gene

J-shaped S=1Cal3t a5 (@fbta (J-shaped population growth curve) cta fsferiie @i S aai?
a) r &3, Iy 2o Jfm (density independent growth)

b) r &<, Iy 167 I (density dependent growth)

¢) K f$3, werg oo (density independent) d) R (2 T

E. coli -93 cloning vector pBR322 -(® e restriction site A2

a) v b) 4 Cc) v d) s

WWF @3 logo T 2=
a) TEfEe b) a9 ¢) =1IsT #ftest (Red Panda)  d) @& (FITifog =

log S =log C + Z log A 42 3tax (formula) C%ta
a) S = Species richness, A = Area b) Z = Regression coefficient
c) C =Y intercept d) G FF02
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